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n[HY Q] = 37 X 167. 8697 = 6211.1789
[H][V Q] = 36. 89 X 135. 02 = 4980. 8878
n[H?] = 37 X 47. 4323 = 1754. 9951
[H]? = 36. 892 = 1360. 8721
[H*][V Q] = 47. 4323 X 135. 02 = 6404. 3091
[HI[HY Q] = 36. 89 X 167. 8697 = 6192. 7132
n[Hy Q] —[H][V Q] _ 6211.1789 — 4980.8878 _  1230.2911 _ 3 1916
n[H*] —[H]* 1754. 9951 — 1360. 8721 394. 1230 :
p— MWl —[HIH/ Q] _ 6404.3091 —  6192.7132 _ 211.5959 _ 0. 5369
n[H?] —[H]? 1754.9951 — 1360. 8721 394. 1230 ‘
a’ = 3.12162 = 9.74
b,/ a =  0.5369 3.1216 = 0.17
Q = a:(H = b/ a) = 9.7 (H + 0.17 )*
R = 0. 9966






